HOOKER"

——FURNITURE ——

come loose during shipment.

ASSEMBLY INSTRUCTION

Item: 6202-90667 DKW Jackson 6/0-6/6 Headboard-Footboard-Slats
6202-90653 DKW Jackson 5/0-6/6 Rails
6202-90TALL-KING Jackson Tall King Posts with Canopy

Thank you for purchasing this quality product. Be sure to unpack carefully looking for small parts which may have

Read all instruction and study the drawing carefully before starting the assembly process:

HARDWARE PACK HARDWARE PACK

6202-90651 DKW 6202-90TALL
NO [DRAWING | DESCRIPTION | SIZE |QTY| |NO |[DRAWING | DESCRIPTION|  SIZE QTY
A 2099 | Screw 81" 8pes B gy, | Threaded Rod | ®5/16"#4-1/2" | 4pcs
c © Nut 95/16™12  |10pes
6202-90653 DKW D @  |Lock Washer  |®5/16"x12x3 | 20pcs
NO [DRAWING | DESCRIPTION | SIZE |QTY| | E (@ |Curved Washer |L32*13*8  |10pes
B | ®™—m, |ThreadsdRod |©5/16"4-1/2" 8pcs G & |Bolt ®5/16"<2" | 8pes
C ® Nut @5/16"12 | 8pcs H @mm | Hexagonal Bolt |®5/16"x1-1/2"| 2pcs
D &  |Lock Washer  |®5/16"x12x3| 8pcs I | ewms |ThreadedRod |®5/16"*2-1/2" | 6pes
E (J  |Curved Washer |L32*13*8 | 8pes 7 Flat Washer | @s/16"x19x2 | 10pes
F | = |HexWrench |12MM Tpcs K | ~Z > |Allenkey Smm Ipe

‘1} Step 4
i

~—— Support Leg
é‘\_/ﬂdj. Glide

—~




